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Each question has four answer choices. Select the correct one.

1. How many houses were there in the valley in which Lencho lived ?

A) Only one B) Two C) three

2. What was the only thing that Lencho needed for good harvest ?

A) Fertilizer B) Pesticides C) a good rain
3. Who saw Lencho's first letter first ?
A) His wife B) The postmaster C) The clerk

4. How did Lencho afix the stamp to the envelope ?

A) Carefully B) with finger C) With a blow of fist

Fill in the blanks with a correct word or a phrase.

5. were working in the field before dinner.

(1x30=30)

D) many

D) Hard labour

D) The postman

D) all the above

A) Lencho's older sons B) Lencho's smaller sons

C) Lencho's workers D) Lencho's family members

6. In his second letter Lencho requested God to send him
A) 100 B) 70 C) 30

7. Lencho preferred a plague of locusts to

A) Downpour B) Shower C) Rain
8. The postmaster was a fellow.
A) Arrogant B) Friendly C) Pleasant

Answer the following questions in a word or a phrase.
9. Who has created all things and creatures in the universe ?

A) Lord Brahma B) Lord Jesus C) Lord Siva
10. What has God given to the birds ?

A) Glowing colour B) tiny wings C) Fragrance

pesos.

D) 20

D) Hailstorm

D) Friendly and pleasant

D) Lord God

D) Beauty



11. Why has the God given us lips ?

A) To speak B) To sing C) To talk with friends D) To praise God
12. What brightens the sky ?

A) Morning B) Evening C) Sunset D) The Sunset and morning

Fill in the blanks with a word or a phrase.

13. At sunset the mountain looks

A) Purple B) Purple headed C) Red D) Blue
14. C.F. Alexanderisan __ poet.

A) English B) American C) Irish D) Indian
15. Theriverrunsbythe

A) Village B) Mountain C) Temple D) Garden

16. Having all power is called
A) Almighty B) Omnipresent C) Imminent D) All the above
Answer all the following questions in a word or a phrase.

17. Who was Timothy named by ?

A) Grandmother B) Grandfather C) Writer D) The cook
18. How was Timothy brought up at first ?

A) By meat B) By milk C) By rice D) By chicken
19. How many elephants were there in the expedition party ?

A) 25 B) 13 C) 15 D) 11

Fill in the blanks with a word or a phrase.
20. At night Timothy slept in

A) Cook's quarter  B) Drawing room C) Rest shade D) A special room
21. A change came over Timothy when itwas about __ months old.

A) Two B) Four C) Five D) Six
22. According to the old keeper Timothy had died _ months ago.

A) One B) two C) Four D) Six

Fill in the blanks choosing correct alternative given.

23.The antonym of contentment is

A) Satisfaction B) Discount C) Discontentment D) Displease
24. A friendly and pleasant personis called _ person.

A) amicable B) Abiding C) Amiable D) Happy
25. I need some ___ pots for the puja.

A) Earthly B) Earth C) Earthen D) Earthing
26. Our Headmaster chaired the meeting yesterday. The underlined word is a

A) noun B) verb C) Adjective D) Adverb

27. | found my friend honest. The pattern of the sentence is
A) SV B) SVO C) SVOO D) SVOC



28. Wait here until | return. It is a sentence.

A) Declarative B) Interrogative C) Imperative D) Exclamatory
29. Aflock of sheep  grazing there.

A)ls B) are C) Has D) Have
30. Bread and butter __ gone up in price.

A)ls B) are C) has D) have

Part — II (Subjective )

The figures in the right-hand margin indicate marks.
Answer all questions as directed.

1. Answer the following questions in about 50 words. (5%2=10)
a) How did the hailstorm make Lencho helpless ?
Or
How did the postmaster help Lencho ?
b) Why should we praise God ?
Or
How are the seasons described in the poem 'All Things Bright and Beautiful'.
2. Write a letter to your father explaining how the COVID guide lines are followed (5%1=5)
in your school.
Or
Write a letter to your friend saying that you can not attend his birthday party as you are busy in
preparing for the examination.
3. Write an application to your Pradhana Acharya requesting him/her to let you (5%1=5)
go home after fourth period as you are feeling a terrible headache.
Or
Write an application to the BDO of your block requesting him/her to sink a tube well in your village .
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PART -1 (OBJECTIVE)

F6L)IB g6RUR Y SI6QIS AR @A FRIQ O AQG'e 6@ | (1x16=16)
1. 68Q26Q MY INRIE] AGIRER UR °FIQ LREVD FPIN |

(A) CuS0,9948  (B) NaCl Qél (C) BaCl, 294 (D) Na, SO, @94l
2. ZI6AIR QA 69R AANRR TQIE TSR 621NN ?
(A) NaCl (B) KCl (C) AgCl (D) CuCl,
3. 3MnO, +4 41 - 3Mn+2A1,0, 98 96TU6RQ RI0e @47
(A) MnO, (B) Al (C) AlL,O, (D) Mn
4. Q08 YA FQQ 620N PO 6YIR RIEQ _ SHIA 9@ QAILIN |
(A)N, (B) O, (C)H, (D) Cl,
5. 6R% PINEETR TR FER IR FIRELIECFR. PINURARER el FOIE 2 ?
(A) QI (B) 2042 (C) 1@ (D) IR

6. BF QAR JERA IR QR A2 JORAQ Y I Y IR AR FER | 69 YRGS el

(A) Mn(OH), (B) Na,CO, (C) NaCl (D) HCI
7. QAIRQI 6ARIQ ATRER AR 2 Al 6REE ?
(A) 5 (B) 2 (C) 10 (D) 7
8. 0ol 810a PH gny 6 | 60606967 el 9260 96€e 29 | 2da PH gry 666
62T ?
(A) 7 29 (B) 6 @ @7 29 (C)7Q 248 24 (D) AU a6

9. 698 AAEIA #RIS 298 PH gy 7 62inelN, olel 6298 -
(A) NH,NO, (B) NH,CI (C) CaCl, (D) KCl



10. 692 9QIEQ 100° C 6@ 60¢ A6 QIR AT AR Feqm ?
(A) CaSO,2H,0  (B) CaCl,.2H,0 (C) CaCO,2H,0 (D) CaSO,2H,0
11. G¢6Q 29l @Iel A2 60 JoaY F6m IG° JReR AYQ 29 7?

(A) CaSO, (B) Ca(OH), (C) Mg(OH), (D) KOH
12. 6929 60109 FIY QNG JTR6R, FIRIQ IACIE YT 6REH 699 ?
(A) 18 (B) 17 (C) 14 (D) 19
13. 2GR IS ARETR Gol0 ANNER 2l 651A0 FER IR LEURD Y 6QARG ?
(A)M B)K OL (D)N
14. 904G AREIER AIQ 2R AR 6% 2RIQ e IR ?
A)C (B)H (CO)N D)0
15. 67168RTE diI9 AQEIER 602 691RS JIR HIRYR QUILRRURI ?
(A) QIRAA (B) 69QRAe (C) @159 (D) QI8a0
16. 2RIG 626/ 1l BARNYS gade Q6 ?
(A) 2I6RGR (B) QITIRG (C) 21Q! (D) FY6RARQ

Part — I1 (Subjective)
AIBIAICIES Dl AAQ GF ATEQ AV 6Q6R |

@126 dIgEQ FUARYQ IR IS ISIRE |

7Y gge A8 F6L4QACR R4 |

. QR0R JoRYl 2’4 ? 9ld, ZeRlR 8 SQYe 9@ J6YI Qel ARG 62929l FACR AN NG

EREIN RQILQE 69R 6RS ? (4x1=4)
@9l

@ JoQl AIQIYER 29 6 AR UG ADE F9Q YOI @8 QeI ?

. PIRELIERR 8 FATAAR IS 2l LalIREET 7 6 15 Ne° 6Q716R (3x1=3)

IS ARSIR ga 15 6Q 2T | 62FIRT AEARLR, L°APR! Q4R

6Q0lee FRIQ 6996 YR G40 SYBIRR ARG AL 6RE ?
@9l

QG° dIReQ @dR 996 2972 QI AALER QI 6Rd | I9° Y2IQ QLR JFR M ?

. Q8Y QU9 99 QUER QY JRIe F6R, 1218 A°F FlRe Gl SRLN ? (2x1=2)
@9l

AR s AREER YRR PIPIEG JIER AT QIEe AU ? RLLRE G2 |

(X X4
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PART -1 (OBJECTIVE)

F67)I8 geouR gea I6QIG A @@ FkIg O 2aacy ead | (1x16=16)
1. 2¢ AIAAILSQIA RSl A°6UFS 6RIRAIN ?
(A) 6891 (B) 9IS (C) QI6AR (D) 2BA6QRARE
2. A0RIQ YRR 689 AIIAER YRR A°6ATG 621N ?
(A) geiel (B) G014 (C) @o1% (D) 998
3. 2P AITER SRR QS KRR GR A°HYI 6@6Q ?
(A) € 6QIQ (B) 9 691! (C) N 621G (D) ¥ 691G
4. 188 ARRNQ 6564 gIL 6Q6Q ?
(A) 60-90 4. (B) 6-9 ¢. 4. (C) 600-9006Q.4. (D) 6-96Q.4.

5. 999 QUIERER 690 AVIRIFQ 98 YL KRN ?

(A) QIR e  (B) g6aIGell (C) QRELIETR dMET] (D) LURELIETR ANTIRNG
6. Q@EMIR : Physiology test : : @ G :

(A) Photolysis test (B) Photosynthetic test

(C) Morphology test (D) Biochemistry test
7. 33IY AAAEQ RVFLAR ARG IAGAQ JIR 6R60 YL 2 Q6T ?
(A) 9% (B) Ro % (C)90o% (D) Roo %
8. A2QIR T 68R0 Q2N ?
(A) 9991Q I QLR (B) Q1QI108 SR96Q
(C) H92Q Gac6a (D) §IAe01Q ZIQAER
9. AIRETIRE2UR DEQ AAYE 2°6q '€l GRIAIN ?
(A) @8 (B) QU691 (C) QIGg (D) 2288Q]
10. QIR : AR I @&
(A) QIR (B) 9294 (D) 41999 (D) 6QI o]
11. AAMQ A6 &I |
(A) 9o (B) 41Qa1% (C) QREATRN (D) 92a1

12. 0994 : AYISCIRRQ :: Rh 21868] :

(A) Q0L 2A6R  (B) Q96 @R (C) LRI (D) 2199 6§94
13. 2097 991 DO6Q 8F AGAIGET FIER 679 IR K6AG AR ?
(A) LR\ R (B) 224 of (C) ARINIE @R (D) 298 IR



14. RBC 21906160 20 JRIQ 69157 @29 Iaw a8 96l /'€l ?

(A) A (B) B (C) AB (D) O
15. QQUQ 66Q9R UBQ @'l FITUARQ AASR!

(A) Q1 (B) € (C) 0@ 6@5@ (D) gods
16. 9@ QIR 6QUR2Q! JIE1R 9008 6060 J6RIT 26T ?

(A) 9 (B) M ©) ¥ (D) ¢

Part — II (Subjective )
JIFINIER Dl AR AR VVIER AR 6QER |

Q1216 dIgEq QUARYD PHIGES JauIw ARIRE |
AqY gga R @séalacnea emg |
1. QY 22716Q dIRIPIERR QAR eS| (4x1=4)

Lo IdUegee edal aal
2. A9Q 20849Q 2RIBAIE F0RR FIRITE 5 a2l | (3x1=3)
@9l
“2ERIRCITSIER ATIQRIF 2Iedia” dQISE edel aa
3. 2Q64INE QI2Iq QRITN ? QHeR, JIRgR! 6 YA 601 691 IR (2x1=2)
YRESITS! 62IR2IN ?
@9l
6ANER 0@ Qg QAN ? Y2IQ G8Q adUee S643Q 6nd |

*k*
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. AT JeT fRaehr dierer @rdr g 2
(A)ITST 8T hT (B) 9T T
. e8It 3R g@ 39T § 2
(A)Fsd TaT & (B)TT ¥

JYH Tcheh YUETT - 039- =
el - gHdl fawT - fgear
AL - 2.89 TT quT HEAT - Yo
- - &l - HHTh -
> g
Tel fawew g7 w7 faf@w) (1x30=30)
. TrEs TSR a9 g g 2
(A) $1o (B) @Tar (C) aHs (D) $§
. 316 & SIS AT G § 7
(A) 919 (B) qu¥ (C) JveT (D) &Iy
58 gcT A g § 394 g6T H i gldg ?
(A) H (B) dH (C) 39 (D) $79TaTeT
. SieT Ot g3 grelr diaar § 2
(A) FFAR (B) HTell (C) HATfelsh (D) Gds
. gTeTellell (9G) & TARAAT HiT § 2
(A) FeRETH (B) {Lar™E (C) Jersirerd (D) I
. 39Tl JTelsh vl dRE &9 § ?
A) e CHT (B) ATfeldT sl (C) 3818 & (D) 3¢aT AR T

(C) =ig hr (D) & Fwor Y

(C)HS g & (D) &M &



9. HAIY Yo & I A Ul fohash AT 8l 6 ?

(A) gt (B) fAedr (C) Ie} (D) 9=t
10. e IHAT gl Wielall AT ?

(A)g@ & TAY (B) §@ & THI

(C) I & THT (D) faufa & @&
11. $ITST T 3[0T AT § ?

(A) Hied (B) ATH (C) TghTRaT (D) 3e=ifd
12. g9l &l A g6 ¢aR Wleled & § ?

(A) eTehsT (B) drett (C) Fait (D) BT
13. 31 S H fordst @ fomam a1 ?

(A) ATUTHCT (B) ST WIShT

(C) BIeT oI5 (D) =T Afglcash
14. ATATeTT T RAISEAT AT AT FIT FoATC & ?

(A) 3T &I T (B) & (C) T (D) g &S
15. fpdT & 9T geT @i T d1d Hd A 3ag ?

(A) e (B) fAse $TeiY (C) 34ish (D) ST
16. IUT & 3feJhel ofd A o g &, T HTsT T oA g 2

(A) feigs (B) ST (C) grdr (D) /Y
17. fraehr & ard dgeT Fr ST § 2

(A) §B3 & (B) T &

(C) QUTE T (D) 9AYRIT hr
18. leT T ST AN- Joll 8T Hhcll & 2

(A) ST (B) Hegnfas (C) T (D) Enfefcas

19.fFE A AT FIA F AT FUAT s T 9T fFgshr aR=mas giar § 2
(A) TATTHATT (B) I¥h (C) farsear (D) TGeaTdT



20. foREH TG F3T SASGE BT & ?

(A) $TaT T (B) ersaT AT (C) HTST &7 (D) @ T
21. 919 ' T HAATLT g -

(A) ITSH (B) OTcIeh (C) ITdh (D) fasarg
22.'ddd - deldh Pl AT esg -

(A) feiew (B) ¥dreT (C) ieg-sTog (D) shrey
23. THAT HI qATIATT esg, -

(A) deldR (B) X (C) SRTsR (D) S8
24, 'TAF &1 faelH 2reg -

(A) ared (B) 2T (C) RIIhRY (D) &Y
25. HYoT Fr TAwId 2Tee

(A) shsar (B) 7YX (C) f& (D) #Harer
26. X1 & 3ol HY

(A) T (B) OrdreT (C) 31TaT (D) =
27. 9fiaT 8

(A) ITET (B) &19T (C) &HTvoT (D) #TG
28. EIfelaT &

(A) arofy BEEE] (C) Tl (D) T&rernT
29. ‘HTT &l Jgadel ¥9 -

(A) HATferIT (B) HATTT (C) #HTelY (D) #Ifer

30. ‘'g3T T dded dcoled H I :-
(A) gst (B) &3 (C) st (D) afsar



Part — II (Subjective )
QYIRS Qe AR B VTNERA RAQ 6RESR |

Q1216 AIgeq GUARYR! LIHMIYER RiIT ISIRS |
(1Y PYQ REQ FERANFACR 6 |

1) 3T FTgse HifAw (@ / diT T 7 39 e (5%1=5)
Hlell T & T87 R 3T &l g |
3rar
I oA Afg aersT & &t gh Adr 4|
2) & / dfisT g # 39 Hfev | (5%1=5)
fohet fohet IOTN & FROT FJST 3HTeT AT FAM & ?
3rar
Fdt 1T 1 S & T Toold HT UgaT hded AT g7
3) fredt arr ARt F1 R A 3reqare Hifawl (2%x5=10)
Q@) 267 9P 98 QNS FIF |

¢l) QUQG AR AR |

Q) QIAD 6Q AR Q1 2G|

Q) 9Q1 Aleg 26 A2 R 2Q !Q |

¢) Il AQIQ FRQ IFG 716Q @l AIN|
Q) LIAFROIER ALIRGT 6Q AR FAUARZ |
) QaLN6R 651788 |

skoskok
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Part -1 (Objective)

F6CIB 6L gEQ LI6QIG AR e FkIQ OR AARCR 6mdl | (1x30=30)

1.060I8 6 FIRT FRIQ 6RLEQ AFIINTA P IR A8 AR GI'A AIR 36 21 ARS ?
(A) 98 (B) 97 (C) 96 (D) 95

2.ax +by +c =0 ANREEY X Q 71 RS AN 67 AR AR ?
A)a=0 B) a#0 C©)b=0 D)c=0

98]

ax + by + ¢ = 0 @ N8 A2 LAY AR 4@ |
(A)@Q (B) do@6dl (C) @269l (D) 9@

o

x+ky =2 64x+12y =8 ANRQS QA AL AR 6R k @ FIQ 666 ?
A) 1 (B) 2 ©)3 (D) 4
5. 661N QR W SFE G MR T 4 6 9P AT X 626R, LIS 6R6 ?
(A) 4 x (B) 4+x (C) 10x+4 (D) 40 + x
6. ax+by+5=0062x+y+1=0 NS Q0 AT 626M a : b 6660 ?
A)2:1 B)1:2 ©)5:1 (D) 99629 QIR
7. tx + 3y = 9 ARedR 6RdeQ (1, 1) G40l 626R t @ AR 6060 ?
(A)3 B) 6 (€)9 (D) 12
8. Q06 AR ANRRER AL FRCIER F6E 2R YA ARSI vy @ Ao Fde
@6 01219 Go10T6R Y6LIS @Rl MOIER 69 69X YSIRT USRS AR ?
(A) 6RSGR (B) 96989 (C) ZAAQE (D) 9ded
9. QRAIP ‘A’ QA x @8 68 ‘B’Q ad y 9d | 9Red 96a ‘A’ 6 ‘B’ @ @ad &4
660 @F 629 ?
(A) 2x+2y (B) x+y+2 (C) x+y+4 (D) 2x+2y+4

QU




10.

I1.

12.

13.

14.

15.

Xx+y=2 6 x—y=0QMQ08 QUQ y Q FIQ 6960 ?

(A) 0 B) 1 (©)-1 (D) 2

6@ G8R A°Fl A2 IRIR QIERS 6ITRER 25—6 629 |

(A)S (B) 26 © + (D) 25—6

629 AR6R ax’ + bx + ¢ = 0 9@ GG AR 699 ?

A)a=0 B) a#0 ©)b=0 Ma=b=c=0

53ad 2206Q 200 9RRE IS AAR JEITR 70 626 QQTRITR @AY 6060 F ?
(A) 70 (B)7 () 10 (D) 17
x2=10x+21=0 ACNREQ Qpqel & 864 626m a’ + B +2af Q IR 6066 ?
(A) 100 (B)-100 (©)2.1 (D) 441

944G do @96Q 6Q1RIa 699 AIIG 20 @.6. 6 690Q 6949 QI g6 5 @.4. 29 606Q
610Q AQYRER 6FIRIG 2 A4IEQ 6060 &.6. de ?

(A)25 (B) 15 (C) 100 (D) 50
16. ABCA 6 m/B=90", AB=BC =10 c.m. 626@ sin C Q IR 6260 ?
@1 ® 5 © ¢ (D) 1032
17. Q64D FRIQ 6996 COSA Q IR 62IRUER ?
(A) 3— (B) Z— © V2 (D) 3
18. @ =135°626m sin@.cos@.tan @.cotB.sec O Q QIR 660 ?
(A) V2 (B) /3 ©) % (D) %
19. tan 0° Q €IQ 6960 ?
(A)0 (B) 00 © 1 (D) -1
20. 6896 2AMG ?
(A) sin 60° (B) cos30’ (C) sin120° (D) cos150°
21. 6615 GRER A6 ANEIRTR S94 CYRER G0 FARIR FLITEM QEF @’dl UFQ AR ?
(A) R (B) 6916l AQHER  (C) ARIA (D) 20448 AAY
Qd,




22.

23.

24.

25.

26.

641G GRPR YR QI2Q FIGEY 6AIT RQARI CAHIFER 6T 8 62.8. 626/ QOIA 2R
6o 6060 6Q.4. ?

(A)4 (B) 8 (©) 12 (D) 16

691G QIIRANQ 2SR QeQa AAE 20 62.8. 6 29a 10 62.8. 626m Q4 QA I §9Q
695 RIS 6RSIYLR 606 660 6Q.4. ?

(A)5 (B) 10 (©) 15 (D) 30

691N 0REARA ALAIRTAR FRIGRE TNINQE 646 FER YR YRS 1@

(A) AFI8AR 6@  (B) @rd (C) Q069 (D) ZINOSQ

6OIGN FRPR QR QLR FRIGLR CUITRER 66T 6816 G 8 691N QIdRAe| Fem | 1@
6216 Ge@ 3 QIIRUAR 69RTRR QUG 6R6G ?

(A)1:2 B) 1:3 O 1:4 (D)2:3

— — AD 2 ~ ~
AABC NOBQDE|BC, —-=> 8 AE=36Q.8. 626R AC=6@60 62.8.? 2

DB 3
(A4 (B) 7.5 A
b E

©5 (D) 6 \
B C
- _—_  AX 2 XY
27. NOEQ XY || BC » wp=> 696 ——= 6@6Q 7 A
5 XB 3 BC )
(&) 3 (B) 5 ) /\ .
© 2 D) & \
S - AB.CD 9 B C
28. AD,/ZBAC Q QQol&da | VT Q60 ? A
(A)BD (B) BC
(C)CD (D) AD
B D C
29. Q@6 294 QYRR 2QQY QLR AULUIB 4 : 9 626R, AT TAAIFIQ AQUIG 66 ?
16 mm v
(A)4:9 B)2:3 © 37 (D) 691616 Q6%
30. Q06 499 QAR 6FATRR ARG 4 : 9 626m, ATNPFTR JAAKIR 2RI 6REE ?
16 mm v
(A)4:9 B)2:3 © g7 (D) 6916196 Q6%
QU




Part — II (Subjective )

JATIFNER Lol AR B VVIEQ AR 696 |

Q1216 CISiea QUAARYQ! Yl e JNiIw IR |
(Y YR RAQ FEREIQACR 6N

1. 696@164 QIERIG g 2@ G | (5x4=20)

a) g0R8R YEINER RIS @ |
Sx+y =26
4x+3y =23

b) 94RGER TREIE AR ARIG AR |
6x>—Tx+1=0

c) 691G QPATNIQ AR B 2R 4 6N 6LITRER BIQ T :— 24, @3 A9 6 20Q 1 6N
Q6la PEM Bl MY j— 24| QG dor @l

d) gOldl @Q 64,
601N RPQ 06 QIR 6344, 2R Ia PR9e APQY FRIZR 6T A8 AAIRUIGT 626/,

Qe 906 A4 U3 |

3+\/5
243

f) ABCA 2e9 99 9210 m/4 = 60°, BC=7.162.80. 8 ORIAI BE= 4.2 6Q.41. |

e) 9918l @ sin120° + tan150°.cos135° =

Hkck
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F67)® g6Ue g4a Sl6QlS AqIY e kI OR 2@t 6mdl | (1x30=30)

0) 6996 ‘PR’ JoRa AR ?
@) SRQOIER YRG! ¢) @96l QaAae
q) JERIORIQIC YalIe Q) A M QU FBEL
9) I QAR 696X @ IR, Y, FIR, YR 69 AR Jgdide JRJS AR ?
@) oIS &) QeI o) @R Q) QAR
M) eRsRE ‘FIREARI 0RGd” @ IR em ?
@) 6491991 QIR &) dQ AR o) RRYESIQ] Q) JFIR PR
¥) 6262 Q4 S19 dIFY6eR JQE 98 6QIRCN ?
@) MPER &) S06Q o) 627126Q @) 6Q4lISER
8) 92 IN-PRR! 2IR ERANING 20N AILS ?
@) 999Q9 ¢) RIGQL o) 9890 Q) 430 Al
9) A9 YRR 6220 2IeeR OB 6993 ?
@) 930 9926 ¢) 9F0 IR @6 ¢) P J9ea Q) ZIFe 9EYIER
9) Qe FOAURR FIY °F6AIF! ¢ AFAL YRAGIKIQ QA0 VIR I8 &)’
62IR0EM ?
@) QG &) 9RRIQR q) digeQe Q) RQEIQ AT
[) Q0L R 699 AVS°VCR 2 I8 FRUEM ?
@) G090 ARLE  ¢) 94 @9 o) 90 @°§ Q) 62 @°4
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